An automobile travels to the right at a constant speed of 48 mi/h. It
the diameter of a wheel 1s 22 1n., determine the velocities of points

B, C, D, and E on the rim of the wheel. V/‘\: - M/s
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Knowing that at the instant shown the angular velocity of rod BE is
4 rad/s counterclockwise, determine (a) the angular velocity of rod
AD, (b) the velocity of collar D, (c¢) the velocity of point A.
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An overhead door i1s guided by wheels at A and B that roll in hori-
zontal and vertical tracks. Knowing that when € = 40° the velocity of
wheel B is 1.5 {t/s upward, determine (a) the angular velocity of the
door, (b) the velocity of end D of the door.
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